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QUESTION 1

Examine the partial output of the BGP routing table of an AOS-CX switch: 

The switch is learning about four possible path to reach the 1.0.0.0/8 network. Based on this output, which next-hop
route will the AOS-CX select to be placed in the IP routing table? 

A. 192.168.1.5 

B. 192.168.2.5 

C. 192.168.3.5 

D. 192 1684 5 

Correct Answer: C 

 

QUESTION 2

What is the purpose of the transit VLAN when implementing dynamic segmentation policies involving AOS-CX switches
and an Aruba gateway solution? 

A. It identifies the VLAN that the user traffic will be assigned to when it comes out of the tunnel and is forwarded by the
gateway. 

B. It identifies the VLAN that the user traffic will be assigned to, whether the traffic is tunneled or locally switched 

C. It defines the VXLAN identifier to identified UBT traffic between the AOS-CX switches and the gateway solution 

D. It identifies the VLAN that the switch will use when tunneling the traffic to the gateway 

Correct Answer: D 

 

QUESTION 3
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A company is implementing AOS-CX switches at the access layer. The company wants to implement access control for
employees and guests. 

Which security features will require a ClearPass server to be installed and used by the company? 

A. Downloadable user roles 

B. Dynamic segmentation 

C. User-based tunneling (UBT) 

D. Change of authorization (CoA) 

Correct Answer: A 

 

QUESTION 4

Examine the VSX-related configuration of the core layer AOS-CX switch: 
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A network administrator is troubleshooting a connectivity issue involving the VSX LAG (link aggregation) between the
core and access layer switch, during HW replacement of one of the core switches. Which configuration should the
administrator add to the core switch to fix this issue? 

A. ICX-Tx-Core1(config)# vsx ICX-Tx-Core1(config-vsx)# system-mac 02:01:00:00:01:00 

B. ICX-Tx-Core1(config)# interface lag 1 multi-chassis ICX-Tx-Core1(config-if-lag-if)# mtu 9198 

C. ICX-Tx-Core1(config)# interface 1/1/46-1/1/47 ICX-Tx-Core1(config-if-vlan)# active-gateway ip 10.1.11.1 mac
02:02:00:00:01:00 

D. ICX-Tx-Core1(config)# interface 1/1/45 ICX-Tx-Core1(config-if-vlan)# active-gateway ip 192.168.0.0 mac
02:02:00:00:01:00 

Correct Answer: D 
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QUESTION 5

An administrator wants to leverage always-on PoE on AOS-CX switches. Which statement is correct regarding this
feature? 

A. Provides up to 60W of power per port 

B. Supports all AOS-CX switches 

C. Provides surge protection for PoE and non-PoE ports 

D. Requires NetEdit to implement 

Correct Answer: A 
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